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Suppose the graph of fis given. Write equations for the graphs that are obtained from the graph of f as follows.
(a) shift 2 units upward.

(b) Shift 3 units downward. (F) Reflect about the y-axis. ‘5 ) TL\()(—33

(<) Shift 3 units to the right. {g) Stretch vertically by a factor of 3.

(d) shift 3 units to the left (h) shrink vertically by a factor of 2.

(e) Reflect about the x-axis.
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6-7 The graph of ¥y = /3x — x? is given. Use transformations
o create a function whose graph is as shown.
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9-24 Graph the function by hand, not by ploiting points, but by
starting with the graph of one of the standard functions given in
Section 1.2, and then applying the appropriate transformations.
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25, The city of New Orleans is locared ar latinde 307N, Use
Figure ¥ o find a function that models the number of hours m N J,Ov\\——e g j
of daylight at New Orleans as a function of the time of year, N
To check the accuracy of your model, use the fact that on Higlh - o=t <7L =—g ﬁ/\«{) NROR
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26. A vanable star is one whose brightness alternately increases
and decreases. For the most visible varable star, Delta
Cephei, the time between periods of maximum brightness is
5.4 days, the average brightness (or magmitude) of the star
15 4.01, and its brightness varies by 0,35 magnitude. Find
a function that models the brightness of Delta Cephen as a
function of time.
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31-32 Find (a) £+ g, (b} f — g.{c) fa, and (d) /g and ﬂmt@
domains.
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33-38 Find the lnctions (a) feq, (h)g=f, (c) f=f, and {d) g = g

and their domains.
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38. f(x) e glx) = sin 2x

I'll re-do for video, on request.

39-42 Find fogoh. = £ RGO

39, f(x) = 3r - 2 hx) = x?

3(s=0)) -9

glx) = sinx,

Mostly done in class. For notes, see Fall 17 Notes, 170828 date (August 28th, 2017).
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43-48 Express the function in the form fe g, — 'CC7 Cx)\
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49-51 Express the function in the form = g = b h snside j “ f’\d‘f ‘Q
50. Hix) = 2 + |x
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52. Tse the table to evaluate each expression,
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53. Use the given graphs of f and g to evaluate each expression, or i

explain why it is undefined. ) -
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